Algebra 2 Name KE’Y
Review: Algebra 1 — Quiz #2 Date Period

Multiply the following polynomials. Write answers in simplest form.

1) (3x+5)(2x* -7x-8) 2) (x> +4x-5)(x*+2x-3)
+5 | 105} -25x | -0 -3[-322x | w15
3x | |-21X -24x 7 * 2| 2% 3| 8x* [l

2x*-7x —8 X e [ux3 -5
' , —

x%+ 4 —5

1) (px3-—llx7'- Sq9x ~40 2) xq+bx5-22.x +15

Factor completely.
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Solve the quadratic equation/'by factoring.
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9) 2y*—-19y+6y-57=0
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Given the following functions: f (x) =-2x" +3x+15

and g(x)=x*+4x-11.
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12) Find x if g(x)=10.
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13) Find the domain and range
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Write an equation and solve. Check your answer.

14) A picture needs a frame added to it. If the picture is 8 in. by 10 in. and the area of the
plcture WIth the frame can only be 120 sq. in., what is the width of the frame?
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Answers:

1) 6x°-11x*-59x-40  2) x*+6x’—22x+15 3) (x—6)(x+4) 4) 2x(3x+2)"

5) (5x+11)(5x~11) 6) (Br+9)(x+1) 7 x——% % 8) x=-1,10
19

9 y=-3,— 10) n=-5,0,5 11) -29 12) x=-17,3

13) Domain: (—9,0]' Range: [-9,7] ' 14) The width of the frame is 1 inch.



